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A g4 X EEMh | AR AR RITHGT ffi 4% 5%
BEHN 1B =i 5kg e kg | 1,000 EiE
BHN 8 =i 5kg 5 kg 850 EE
BHHN 102 =7 5kg e kg 800 EiE
mNA 158 =2F 2kg 5= kg | 1,900
Lv.ORb: 162 =F 2kg 5 kg | 1,500
mNA 352 aF 4kg 5= kg | 1,350
Lv.ORb: 38 =F 4kg 5 kg | 1,350
7o 13/158 &5 5kg ) kg 900
7o 19/218 B 5kg e kg 850
7Y 10/11kg =1L 1A & kg | 3,800 KR EBE
) 10/13kg tiEE 1A 8 kg | 1,600 oE FE
7Y 8/9kg dbiEE 1A 8 kg | 1,500 a¥ FE
ES<Y 6/9kg RIG 1A 4 kg | 1,400 £
hv#x 4kg & 1A 8 kg | 2,400 # BE
VAPA 3kega Al 1A 78 kg | 2,900 TE 5
B 3E e d o] 5/5.5kg & kg | 4800 | # BEFH 10FEARBEEIC
£ B 4 LEdon) 5/5.5kg = kg | 4000 | # BEFH 10FARSEEIC
£ Bff 5F i di] 5/5.5kg ] kg | 3700 | # BEH 10FBARSEHIC
AXF* 3/4kg =81 1A ) kg | 1,800
iR 2/3kg k. 1A & kg | 2,900 EiE
EH 1.5/2kg R 1A & kg | 4,000 EE FEX
BEA47Y 238 R=E 2kg 5 kg | 1,200
BRAT 174 dtiEE 4kg & %5 | 6,800 EF XA
Xl AF 2kg A & %5 | 2,300
EEHx/ VY [# Ll 120g P P 650
BBHTH 100g dbiEE &l kg | 2,900
<TH BER 200g P P | 1,250
HHT 150/180g R 1 kg | 3,500
BT 40/50g e & kg | 3,900
EHHT 50/60g wn B kg | 3,500
2118 30/50g == 1& kg | 1,800
=PA%S=! 300/450¢g ZH 1& kg | 4.800
yJH 30/50g dtiEE 1& kg | 2,500
258F Fig itiEE 500g P P | 3,800
278F i dtiEE 500g P P | 43800
258F B dtiEE 500g P P | 6,500
Eh¥ #9200/250g | FRIF & 1& 450
BEh+ #9150/200g |  FRI% & 1& 400
BEh¥ #9100/150g | 7RI 1 1& 350




